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(2.06) - - - - - - - - (1.13) (0.03) (3.22)
EUR 1,597 - - - - - - - - 0 - 1,597
1,549.80 | (4.47) - - - - - - - - (0.00) - (4.47)
GBP 1,715 - - - - - - - - - 10 1,725
1,84063 | (4.80) - - - - - - - - - (0.03) (4.83)
HKD | 347 - - - - - - - - - - 347
173.13 (0.97) - - - - - - - - - - (0.97)
JPY 1,304 - - - - - - - - - 13 1,317
9.49 (3.65) - - - - - - - - - (0.04) (3.69)
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Palantir Technologies Inc(USD) 23,423 4137 11.58 0|=/Technology
Tesla Inc(USD) 4,685 2,113 5.91 0|=/ConsumerCyclical
META PLATFORMS INC-CLASS A(USD) 1,874 1,751 490 0|=/Communications
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= Ct
e H3 T = :I.OH|_ 4 HIS (%) * :LOHO 4 HS (%) *
(=] =\70 (=] =\70
A2 E 3| A 8753 | 0.23 80.05| 0.24
Tiof| 3| A} 29.25( 0.08 26.80 | 0.08
SAZYQIHtE Al Class A 117 0.15 1.06| 0.15
FEE 82t (FA]) Class A-e 1.86| 0.07 1.75| 0.08
SAZYQItE Al Class C 020| 0.25 0.19| 0.25
FEE 82t (FA]) Class C-e 1.23] 0.12 1.14] 0.13
S48 282 (=4A]) Class C-W - - - -
SAEZY QI 2HFEA]) Class S 232| 0.06 2.10| 0.06
wESaQlEre et (FA]) Class C-P 342 0.17 3.14| 0.17
w858 28rdeh(=4]) Class S-P 500 0.05 4541 0.05
oA TajolpUat 22y FE=2d 2t (FA]) Class C-Pe 637 0.08 598 0.09
AtAHHYE SHAE AL ES FE2d28tdat(34A]) Class C-P2 1.37] 0.16 1.25| 0.16
(F4) wa2el8r 2t (=4]) Class C-Pe2 6.08| 0.08 5441 0.08
S AZolHFL2HZRAD) Class F 0.05| 0.01 0.04| 0.01
FEE2Qtdet(FA) Class SR 0.19| 0.04 0.17| 0.04
T4 = 2f| A 2ES| AF(AEFOI ) 3.69| 0.01 3.37| 0.01
UUALR 22| S| At 2.03| 0.01 1.85[ 0.01
B A 12249 033 112.07| 034
7|EtH|E** 2.28| 0.01 2.08| 0.01
oy - Ch=OHoH. 270 &4 21.50| 0.06 12.62| 0.04
Zojang RAZMUR S ME|A 24 - - - -
A 21.50| 0.06 12.62| 0.04
SHEHAM| 1.40 | 0.00 0.15| 0.00
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ST ° S 3‘:!. + ST ° S * ST 3‘:,. +
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SAZOIHILZHRA) 2™ 7| 0.01 0.23 0.24 0.01 0.23 0.24
= = 0.02 0.15 0.17 0.02 0.15 0.17
SHIZolHIL 2 (FA]) 24 7| 0.02 - 0.02 0.02 0.23 0.26
£ = - - - 0.02 0.15 0.17
(class)d si&t
REE ELEHFA) Class | H7| 1.61 - 1.61 1.64 0.23 1.87
= 1.61 - 1.61 1.64 0.15 1.78
LAZQABILEHFAN Class | 7] 1.31 - 1.31 1.34 0.23 1.57
A-e = 1.31 - 1.31 1.34 0.15 1.49
S AT oIHtE2HRAD Class | &7 2.01 - 2.01 2.03 0.23 2.27
C = 2.01 - 2.01 2.03 0.15 2.18
SAZYoIEL2HRA Class | A7 1.51 - 1.51 1.54 0.23 1.77
-e = 1.51 - 1.51 1.54 0.15 1.69
SAZYoIEL2HRA Class | A7 1.01 - 1.01 1.04 0.23 1.27
C-w = 1.01 - 1.01 1.04 0.15 1.18
SAZYOIHIL2HZEAD Class | X7 1.26 - 1.26 1.29 0.23 1.52
S =¥ 1.26 - 1.26 1.29 0.15 1.44
SAZYOIHIL2HZEAD Class | X7 1.69 - 1.69 1.72 0.23 1.95
C-P = 1.69 - 1.69 1.72 0.15 1.87
QAT oIBtL2HRAD Class | 7| 1.21 - 1.21 1.24 0.24 1.47
S-P = 1.21 - 1.21 1.24 0.15 1.39
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C-Pe =9 1.35 - 1.35 1.38 0.15 1.53
QAT oIBIL2HRAD Class | 7| 1.66 - 1.66 1.69 0.23 1.92
C-P2 = 1.66 - 1.66 1.69 0.15 1.84
QAT oIBtL2HRAD Class | 7| 1.34 - 1.34 1.37 0.23 1.60
C-Pe2 = 1.34 - 1.34 1.37 0.15 1.52
QAT oIBtL2HRAD Class | 7| 1.06 - 1.06 1.09 0.23 1.32
F = 1.06 - 1.06 1.09 0.15 1.24
SAZ oIt 2HRAD Class | &7 1.16 - 1.16 1.19 0.23 1.42
S-R = 1.16 - 1.16 1.19 0.15 1.34
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